B i [E 6T

GHKDB# %1
GHKDB % %1 i B4 /% JE &1
GHKDB 32 - 30 BHRFXES
GHDKDB 32 — 30 |- ZK — BEFXaE
1 im IR £ xics| 2T
gggﬂ 118 Fio S PulREl s _|Eh
! M FHEREL 0_[ &
BAE
HAMESER iE
i BATE 20 20mm 50 S0mm
EHTE T 25 25mm 63 63mm
EDMea 19 32 32mm 80 | 80mm
BEREEIMPa 13 40 40mm 100 100mm
WEOMPa 15
BiESHEOMPE 0.3 )
ESREEHRE ~10-80°C -10-60°C
RIFEE B=100mm/s
BitERNME BTN
MM ERESmm EBEAN  SEERmT) e lﬁﬁﬂiﬁ,ﬂmpﬂ’-l =
20 12 £ 314 1099 2198 3140
271 201 104 1407 2010
. ” ®h 480 1715 3430 4900
17 336 1176 2352 3360
a7 18 ¥ 804 2814 5628 8040
510 549 1922 3843 5480
i o= i) 1256 4396 8792 12560
#i7] 62 37 6034 B620
= = #7] 1963 6871 13741 19630
#1717 1347 4715 9420 13470
& % £ 317 10910 21818 31170
7] 2127 7445 14889 21270
80 45 B 5026 17581 35182 50260
7] 3436 12026 24052 34360
100 56 8 7853 27486 54971 78530
TA) 5380 18865 37730 53800
REITHE g1 kg
& fTR(mm)
om) | s | 10 | 15 | = | 25 | s | s [ a0 | a5 | s | 5 | 100
20 218 240 262 282 | 304 | 326 | 348 370 392 414 | = | =
25 299 | 327 255 asa | 41 439 467 | 495 523 g1 | - | =
%2 | 515 | 588 601 644 | 687 @0 | 773 | .18 859 902 | 1117 | 1332
40 729 784 | B39 | 804 040 | 1004 | 1050 | 1114 | 1169 | 1224 | 1499 | 1774
B0 1085 | 1139 | 1213 | 1287 | 1361 | 1435 | 1508 | 1583 | 1657 | 1731 | 2101 | 247
63 | 1773 | 1882 | 1991 | 2100 | 2208 | 2318 2427 | 2536 | 2645 | 2754 | 3209 | 3844
B0 | 3216 | 3379 | 3542 | 3868 | 4031 | 4194 | 4357 | 4520 | 4683 | 4846 | 5661 | 6476
100 6124 | 6384 6626 | 6868 | 7110 | 7352 | 7504 | 7836 8078 | 8320 | 9530 10740
SAMSUN — ,‘“= iﬁ H‘:
1 —Ja I




B i E 6T

GHKDBZ %l
regaltd
14 =
1;__1' 11 i -
#32— 100 .
20~ 728
71 %
E S = FR 5] ¥ = i
1 EEAT 454 i, #8
a B ZQ5Sn5-5-5 EER
3 L= EEEm4eH
f i Z05n5—6-5 S S
5 & EEEHAsH
6 =237 SR
? SEAEE TEgE
g = PTFE. NBR
g M =z
10 WAE 464
1 HEsH THESR
12 SEHEHE BER
13 Rl S| TSR
14 FxZa BeE

A e




B i [E 6T

GHKDB#% 71|
A % 4 £
0
f-.-\.
i
i
= L
T
L]
-I-H - - B -
8 B | co | d | & | H
= 17 19.6 | MIOX1.25 16.5 6
25 19 21.8 | MIZX1.25 18 7
32 22 254 | MIBX1.6 o1 10
T 27 | 3.2 | M2OX1.5 | 28 | 12
50 32 37 M24X1.5 31 14
63 41 47.3 | MB30X1.5 40 17
80 55 63.5 | M3oX1.5 54 20
100 70 80.8 | M4BX1.5 £9 26
HRESTRT

L D
L& ¢ | oe-m® | ¢
20 | 12.4 | 50+S | Ms
25 | 104 | 50+S | Ms
a2 | 105 | 55+S | M6
40 | 135 | 60+S | M8
50 | 15.8 | 65+tS | MID
83 | 16.0 | 7048 | M12
80 | 22.2 | 85+ | Mi4
100 | 265 | 105+S | M6

3 Gk



B i E 6T

GHKDB% 71
GH KDB
it a - il Q -
FXG o2l
[ i W, W]
Rl S
e f-'f!:. . 2dnce
JHL |
4-i K
3oL B . i -
Ir A4S =
k
. X
¥ .,
- a -
o . HH‘
N
L Fi+5
g&mm | A | B | ¢ | D | E | F | & | H IR %
20 59 | 4 | 8 | 12 | 10 | M8xXi.25 | 10 | & | 30 | 55 | 9.585.4
2% | 53 | 45 | 8 | 14 | 12 | MIOX1.5 | 12 | 6 | 36 | 55 @ 0.5W5.4
@2 | e | 5 | 10 | 18 | 14 | M2x1.75 | 15 | 7 | 47 | 6.6 | 11®6.5
0 | e | 55 | 10 | 2 | 19 | Miexz2 | 2 | 7 | s2 | 8 | 14ms.6
a1y | 1 | &0 | 11 | 28 | 24 | M20X2.5 | 24 8 58 | 11 | 17.5%10.8
63 | 80 | 67 | 13 | 35 | 30 | M2TX3 | 33 g 69 | 13 | 208813
80 | 95 | 78 | 17 | 45 | 41 | M3OX3.5 | 36 | 14 | 86 | 156 | 23%i6.2
100 | 122 | a5 | 26 | 56 | 50 | M3GX 4 | 45 | 21 | 106 | Tk | 265R17.5
SEmm) = b o | tr | =® e P | @ | R | M
0 1 6 6 0 | 23 | MIOX1.25 66 | 1/8 | 16.56 | 6 43
25 | 14 | 18 5 12 | 26 | MI2X1 .25 | 7] | 1/8 | 17 | 8 | 458
a2 | 21 | 25 7 14 | 35 | MIBX1.5 | 26 | /4 | 19,5 | 10 | 63
40 26 | a0 7 9 0 | MOX1.5 | 95 | /4 | 205 | 10 | T
a0 < § | a5 8 24 45 M24X1.5 106 | 1/4 | 22 | 10 | 1
63 - 41 | 45 9 30 58 M3OKT .S | 125 | 174 | 25.5 | 1 | ar
B0 | 56 | 6 | 14 | 4 | 77 | M®Xi.5 155 | 3/8 | 30 | 15 | 117
0 71| 75 | 2 50 | 101 | M48X1.5 | 197 | 3/8 | 36 | 15 | 142

4 Gl




B i E 6T

GHKDB % 71|
GH IKDB[ | = 1— [] X1 ZEED (TEE | @ A
R AR
HEMRL |[Tice Agg H SR
M PR W IR
1%
ik
FXG
3 = Ei!f
¥l © T :
ST S o |
- H'-...-' -.'.."...'-.--: B ] h
i - - Iy o ; 5]
RIFE H e J -3 T ;“ =
; o R i, i E
e | B45
i AsS
ggmm| A | 8 | F | b | d | E[c| & | H | o] X
20 53 43 hABX 1 12 11 10 10 B LR 5.5 MG
26 &6 45 Max1.28 14 13 12 11 10 6.5 T.B hAEX 1
s 63 a1 MIGX1.5 18 15 13 12 12 T 8.5 MBX1 .25
Aan 69 55 M12X1.75 22 18 16 14 15 8 10 MI10X1.5
80 Fi 80 MiGX2 28 24 21 15 20 4.5 11.58 | M12X1.75
63 85 Gr M20K2.5 35 31 a7 18 24 11.5 14 MIGX2
B0 ag 78 M2TX3 45 39 36 21 a3 15 7 M18X2.5
100 122 95 M3IOX3.5 3] 48 41 28 36 17.5 22 M20X2.5
GLES(mm) a b £ e f g h Y
20 12 14 MEX 1 5D 10 24 67 12
25 14.5 17 M10X1.,25 E.5 12 28 73 12
e 1F.5 20 MM12%1 .25 ¥ 13 32 83 16
A0 22 25 M1BX1.5 8 16 34 a4 20
a0 27 30 M20X1 .5 8.5 21 45 105 24
63 32 35 M24xX1.6 11.6 27 53 120 24
B0 40 43 M3IOX1.5 15 a6 64 142 27
100 47 50 M3aX1.5 15 41 FiL+ 172 30
5 EX RIS




o Bl i E 6T

GHKGB% 7
GHKGB % 71 i B! 7% % &I
GHKGB 32 - |30 BaFxLs
GHDKGB 32 — 30 | — ZK — BEnFxHE
B £iSS) 2T
= F i R £ s | 1T
Bl % Fosemm L0 0T
EXE M SMRE
RAMEESHR s
o5, BT 20 20mm | 50 | 50mm
GaTE WEH 25 25mm 63 | 63mm
E_EE'JMF_‘E_ 16 32/ 32mm 80 | B0mm
ERAITEIMPa 16 40 40mm 100 1 00mm
WEOMPa 24
BiES®EIMPa 0.3
]EEE]EE,EEEE_ —10—-B0°C —10—60°C
SEIEEE 8=100mm/s
Bit{ERNITE BTN
S (mm) 'Eﬁiﬁﬁlmm}‘ EEON  BEERMM oo Efﬁmﬁg' 8
e — il - . . o i
173 201 704 1407 2010 3216
- 14 # 490 1715 3430 4900 7840
T8 336 1176 2352 3360 5376
0 o %7 804 2814 5628 8040 12864
H17 549 1922 3843 5490 8784
0 2 # 1256 4396 8792 12560 20086
T8 862 3017 6034 B620 13792
50 28 ¥ 1063 6871 13741 19630 31408
#1750 1347 4715 9428 13470 21552
63 a5 #A T 10910 21818 31170 49872
TR 21ar 7445 14889 21270 34032
80 45 #7 5026 17591 35182 50280 80416
17 3436 12026 24052 34360 54976
100 56 ¥ 7853 27486 54471 78530 125648
R0 5390 18865 37730 53900 86240
BEERItER B kg
e | 732(mm)
mm | 5 | 10 | 15 | 2 | 25 | % | 3 | 40 | 45 | 60 s | 100
A 22 242 263 284 305 326 347 368 S8 410 - -
e 312 339 366 493 A20 447 474 501 o28 855 - -
32 5| 625 668 713 T&7 801 845 868 8933 a7y 1187 1417
40 | 927 | 986 | 1045 | 1104 | 1163 | 1222 | 1281 | 1340 | 1399 | 1456 | 1753 | 2048
B0 1351 | 1430 | 1508 | 1588 | 1667 | 1746 | 1825 | 1804 | 1883 | 2062 | 2457 | 2852
B3 1813 | 1936 | 2050 | 2182 | 2305 | 2428 | 2551 | 2674 | 2797 | 2820 | 3535 | 4150
~ BO | 3870 | 4053 | 4236 | 4419 | 48602 | 4785 | 4968 | 5151 | 5334 | 5517 | 6432 | V347
100 7168 T457 7726 7885 8264 B533 8802 8071 8340 8608 10864 | 12208
SAMSUN = r:
6 - niﬁﬁ‘i




i B E L
GHKGB# 7l

eI E S
g = | = R # H & s
1 FEAT a54
2 i Z05n5-5-5
3 ] SEMsH Bl
4 EE 2QSn5-5-5
5 B HESTmASH RS
6 SR el
7 EEAGE TRYK
B SESE PTFE. NBR
9 B -
10 W24 454
1 HEEs TESK
2 ERTEH BEE
13 P ] THEK

SAMSUN

SR




o Bl i E 6T

GHKGB% %
A % 48 1
i
I
E [}
T
¥
- H - E -
5T Ej g | o | d I & | H
20 17 19.6 | MIOX1.25 16.5 6
25 19 21.8 | MIZX1.25 | 18 7
ap 27 25.4 | Migx1.5 | 2 10
40 27 | a2 | M2OXi.§ | 28 | 12
50 3D a7 M24X1.5 | 31 14
63 41 47.3 M30X1.6 40 17
80 55 | B3.5 | M398X1.5 | 54 | 920
100 70 B0.B | M4BX1.5 | 69 26
LA IRET R~
=| T
= [
]

8 C | Os=HFR d
30 | 12.4 5045 M5
25 10.4 = 50+S | MS
32 0.5 | 6048 | M6
a0 135 | 7048 | Ms

. 50 | 155 | 80+S | M0

. g3 | 16.0 | 80+S | Mi2

- 80 | 20 | 85+ | M4
100 | 26.5 | 11548 | Mi6

SAMSUN g —f{SHE



o Bl i E 6T

GHKGB% %
GH KGB
FXG
=1 Q - £ 3 -
i E K :__
E 1 1 T 1
. .
T '|' 2—-H'CF'
5| )
4—:'-': -
g2=7L
4 5 L B+5 -
Aes 5
i
ey
L
SEmm | A B | c | g &l E | a H | T K T ra (T
20 | 51 43 B 12 10 MEX1.26 10 (3] 30 5.5 43 9.5%5.4
55 | &3 45 8 14 iz MiOX1.5 12 6 8 | 55 | 49 | 0.5%5.4
32 66 56 10 18 14 | MI2X1.75 15 7 A7 | 6.6 | 83 | 11me.s
40 Fis 65 10 22 10 MIEX2 20 T 52 g T 14788 .6
50 81 70 1 o8 | 24 | M20X2.5 24 8 58 T 81 | 17.5810.8
€3 90 77 13 35 ap | M27X3 | a3 9 60 12 | 100 | 20813
80 105 | 88 17 45 | 41 | M3oX3.s | 38 | 14 86 15 | 121 | 23,152
100 1@ | 106 | 28 | 86 50 | M39X4 | 45 | 21 106 | 17 | 146 | 26 17.5
HEmMM) 3 | b e | t | 8 c L n | P | B | R | 8
20 1 15 6 10 23 | MIOX1.25 | 68 1/8 | 16,8 6 1.5
26 | 14 18 8 12 26 | MI2X1.25 @ T 1/8 17 8 12
a2 21 25 7 14 a5 MiEX1.5 | o 1/4 | 19.5 10 19.5
40 o6 a0 7 19 40 M20X1.6 | 106 | 1/4 | 21.5 10 | 21.5
50 a1 35 8 24 46 M24X1.5 | 1168 | 1/4 24 10 24
63 41 45 9 a0 58 M30X1.5 | 135 /4 | 21.5 10 | 27.5
a0 56 80 14 41 7 M39X1.5 | 185 | 3/8 31 15 a1
100 71 75 21 50 101 M4BX1.5 | 207 3/8 36 15 36
SAMSUN — -:iﬁ ,_'
g — g ‘Ii.




o Bl i E 6T

GHKGB% 7
GHLIKGB | —=[]—L[] X1 DHET Tice | d@ A
R FISIRL
HIRS [F08 | e H G
= M FHERL W AR
T1E
L
FXG
b By
¥ v
o o 11X
v } . '
b
RE s
- -ﬂ. -
he§
-l{: - E+S
15 AsS
W A T8 F 5 e[ = 6 s Al v =
20 53 43 MBX 1 12 1 10 10 B 5.5 6.5 MEX 1
25 56 45 | MBX1.25 | 14 13 12 11 10 | 6.5 | 7.5 MEX 1
322 | 68 56 | MIOX1.5 | 18 15 13 12 12 7 8.5 | MBX1.25
0 | 709 65 | Mi2X1.75 @ 22 18 16 14 15 8 10 | MIOX1.5
50 85 70 M16X%2 28 24 21 15 20 | 8.5 | 11.5 | M12X1.75
63 a5 T M20X2.5 35 31 27 18 24 11.5 14 M16X2
80 109 88 M27X3 45 ag 36 21 33 15 17 | MI18X2.5
100 192 | 106 | MB30X3.5 @ 56 48 41 26 3% | 17.5 | 22 | M20X2.5
ELEE(mm) a b c g f g h ¥
20 12 14 MBEX1 5.5 10 24 B7 12
25 14.5 17 M10X1.25 6.5 12 28 73 12
3z 17.5 20 M12X1.25 7 13 32 88 16
40 22 25 MIBX 1.5 8 16 a9 104 20
50 27 30 M20X1.5 9.5 21 45 115 24
63 32 35 M2a4x1.5 11.5 27 53 130 24
80 40 43 M30% 1.5 15 36 64 152 27
100 47 50 M39X1.5 17.5 a1 76 182 30
SAMSUN — B ,_T:
10 Ak




i & %% fA &L
GHS %7

GHS il E% f il

TEanfE T

SLAFRERTRFSHIERINEMCER. BEEEFAERERF.
S IENEABEIEDN, SETETETERSREISITHNRE,
ASEASYE TERARERTETH,

SEVNERBERSIL. BNERBEER, gREEHR, LEER
fTREP. BDXHILH.

S AR ENANSEHRT, AERRNILE, RELS, &
R&FwK,

SERBBENEEN, BOATRIEES. 58,
& The product is ideal for mass production on a speclalpurpose

maching and g In machining center, |t wil greatly upgrade
production efficency.

$#When the hydrauic cylinder actuate, and the piston moves
downward, the clamping arm will sweaing to a ratedangia. Thean
It owers untll the workplese is clamped securely,

& To avoid too fast motion,a flow control valve is suggested
to connect to the hydrauic swing clamp cylinder. Do not
clamp workpiece while the clamp Is swinging to avoid damaging
the cvlinder barrel and Iinternal parts.

# The cylnder body is manufactured from structural carbon
steel. Inside surface is specialy treated for maximum
smoothness and long servicea iife.

#When Increasing length of clamping arm |s required, be
sure not to exceed 1. 5 timse of the original length.

514 % #l/Specification
HEAE Bore of cylinder(mm) | =25 | =3 | =240 | =800 | =63
ﬁ_ﬁﬁg_ﬁge of nlstcn{mr'm =18 _ 220 _ 222 _ =28 _ = 35
EATE Swing stroke(mm) D 9 _ 1 . 11 . 13 . 1
Eﬁﬁﬁuw Clamping stroke(mm) std/incr 13 _ IEHED - 15;’:313 _ 1T;‘34 1?;‘:34
BREHa, ey Pressure area pul/pushicm?  2.37/4.81 | 4.9/8.04 | B.63/12.57 13.47/19.63 21.54/31.17
EE¥MD The oretical clamping(30ke/cm?) [ _ 147 258 a4 | B47
PR Flid ElEIiERER Fitered oi
BAMES Max pressuretkg/cm?d 100kE/cm?
{EHEENTSE Range of pressure(kg/cm?) 10~TOkg/cm?
_Eﬂiji_j@]_fl_g;_a_jtj_n_g__qrr@_:ﬂun EELﬁEﬁH Turn right L or turn left R
EARE Rotating angle ERE Standard angledd’ (£2° HIMRAE order angle 0°,45° (£2°)60° (£2°)
AEFATE Acting type BT Double acting
1T #57Ri%/Ordering Code
GI—|IE - 25 S = o a0 - =
FAS @i HIPE % itk L-53=n) =] 2= W] =] TR
Series Type Bare of Cylinder Clamping arm tvpe Rotating Direction FHotating Angle Stroke extension
. Line type
60, 80"
45, 45"
B0, B0

FEEHEYS LPNHEE N0 FifE
R:;Turn right L. Trun left N,0° No swing

=H. AR [0l 158 S 0. WilE
Blank:Line type WF:Meritoid with fiow controd 5.5inge side arm||D:Double sde arm

e e t® v

11 X =R 1IN




i & %% fA &L
GHS %7

BihEREETEE
Single Side Swing Clamp
i RS ORETFTENERSG

- HEF T

|
mi
I
4
I'.L
T
WihEtEEEREE JER B E IR IER K
Double Side Swing Clamp Clamping Arm Mounting Methods

|
ot EARFEVRIE T 2
- 5. Clamping Arm Removing Methods
[ [e] ]
.’_l_'l—\
.

i —
pr—

SAMSUN 19 - ,EI; #ﬁ ,E




i E %% fa &L

GHS %7
BHERERTEE X0 i [ 4 e s o< T

Single Side Swing Clamp

A FERAWHM0T Mitils

LIK

Double Side Swing Clamp

e Fas
N, : S,
1

B e —

CIK

|
~ ol 4%
: a-L
| &2
T ]
5 [ €] :
oa| | 2 EI '
i
- :
o o | (B o
AT 2m < ‘ o -
5 | K s | o
= i ot iyl m
| ’ |
i mnmm : =__ i
E @$ i ]u g :ﬁ%mnd [ : @ =l “
| b | i | ; ' ' '
|J11| !
5'FF R <t 3&/Dimension table BET(UNIL) :mm
= MGDEL‘ CHS~25 ‘ CHS-32 CHS-40 CHs-s0 | CHS-63
|ST . Swing/Clamping 22.9,/13 126:11/15/41:11,/30 26:11/15/41,11,/30 30,13/17|47:13/34 30.13/17 47:13/34
Al 104 118 148 123 153 137 T 142 176
A2 (127) (144) | (174 (150) | (180) | (1673 | (201) | (17D (211)
A3 123 140 | 170 145 | 175 162 | 198 174 208
=] 76 85 | 100 B0 | 105 00 | 117 106 | 122
< 27 30 30 34 34
D1 15 18 18 20 23
D2 27 31 31 37 48
D3 Li18 22 ! 25 132
El MI10 M10 M10 12 M16
2 _“8 il 210 =12 13
E3 Midx1 .5 M16x1,5 MiBx1 .5 M20x1 .5 M24x2
F 10 10 10 12 15
G 50 55 60 65 75
G2 140 160 160 180 200
- a 10 10 12 15
'.'.ll S48 =50 :-':5;!1 :-'iﬂﬁ. B0
K 52 56 63 72 B8
J 40 44 48 57 70
L 56.8 # 6.8 =g = 9 =11
M PT1/8 PT1/8 PT1/8 PT1/4 PT1/4
NI B8 10 12 13 17
M2 17 13 19 21.5 22
N3 48 52 67 57 72 63.5 BO.5 68 85
Q #18 & 20 2 128 # 35

SAMSUN

13

SR




i & %% fA &L
GHS %7

HihERERTEE
Single Side Swing Clamp

WL EERETEER
Double Side Swing Clamp
i FEAWMIDT Bk

FCV-Ming §
) Py ]
A B Iy i
Al R < ﬁ" IH__\\ =1
| | @D 2l 3ls
e I = 7 .
B ';EB ‘m____ﬁ* {%\\‘J—L ! '
- " - :
iy
— G2
E Ema R “1
: e E
oa | | 2 E
i
; -
i ! 5
= LA i =
&l = Eah S | GRS "
|
: ' ] | '
i g |
il 1 “ @' mﬂuwﬂ ||| I Il g
1 L] i, : pibin L
'I : 0-Ring ' II-H—“E: O-R
402 R ~FF/Dimension table B{H(Unit):mm
___ MODEL |
it CHS-MF25 CHS-MF32 CHS-MF40 CHS-MF50 CHS-MF63
ST Swing/Clamping 22:9/13 126:11/15/41,11,/30/26:11,/15 41,11,/30 30, 13/17 | 47,13/34 30,13/17 |47, 13/34
A 104 118 148 | 123 153 137 17 142 176
AZ (127) (144) (174) | (150) (180) (167) | (201) (177) (211)
A3 123 140 170 145 175 162 106 174 208
B 76 a5 100 a0 108 100 117 105 122
& 27 25 25 30 30
D 16 18 18 20 23
D2 27 al 3 a7 4R
03 19 22 22 25 132
El 810 M10 M10 M12 16
E2 “8 28 10 #12 415
E3 M14x1.5 M16x1.5 M18x1.5 M20x1.5 M24x2
I 10 10 10 12 15
G 50 55 60 65 75
i 140 160 160 180 200
H g 0 10 12 15
=1 45 o 5.{] 54 EiE Bnlj
K 55 57 63 72 88
J 42 44 48 57 70
1 76.8 26,8 28 -9 211
M 19 21 23 28 32
___O-Ring. B 24§ Fa P8 Pg
Q 18 & 20 s =28 ~35
SAMSUN — P iﬁ H‘:
14 =ik




	1 GHKGB
	1
	2 [转换]
	3 [转换]
	4 [转换]
	5 [转换]_复制
	6 [转换]
	7 [转换]
	8 [转换]
	9 [转换]
	10 [转换]

	2 GHS
	11 [转换]
	12 [转换]
	13 [转换]
	14 [转换]


